AXOR

ZH / FAPFM / AENRA 02 AXOR ShowerComposition
EN / Instructions for use / Assembly instructions 03 12594XX7

INSTALLATION



ZH 02

A REHI5

A\ FER RS ENTRIZ 0, KA EFE.

Zr T NIRRT

AN EFRBRARVFEREA DEMESZA.

A\ KIS BFFFAT LA SR L T AL, Ak

HAHEEY @

RERT

/ BERNINETmELRE
FINFTIEHIR E R EIRE.
/ EEMRIGIRIEEEIREHEITR

0.

/ IBETEHERIMITHRENE.

ITHIRE. REER

£
.

2 SRR
@@@

/ BEERNT WA RETT RREMNEER: 72
BME P, MEREES T (TREAEE
WER) BHEHNESEATmREEREEL

RASH
TEE®:
HETIFER:

(1 MPa =10 bar = 147 PSI)

PUCRE:
RITEE:

[B)RR

D
(AN

&KX 0,6 MPa
0,2-0,4 MPa

BN 60°C
70°C/4 535h

REA

FFS iR

BERAE Z BRI
*xhznEr )
rerER znEnD
OMEETF

DHBR

R AENE gl K |

XX = B

00 = %8

34 = Brushed Black Chrome
67 = Matt Black

Q9 = Polished Gold-Optic

e s EINE==yl K |
- AEIE A B |

e znsnld

&

R ERE

/ AETSKHE 5/ FE $5 oA

/ Ba R ARRS TR

/ AEPHFBORE K

/ KA

/ BB

/ TEXR KR, FERRERE K

/ AT EE

/ FERIRIERE

/ B F I N

/ HELIKE

/ HENNIKE

/ IRME NI E

/ BT



03 EN

ASAFETY NOTES TECHNICAL DATA
A\ Gloves should be worn during installation to prevent Operating pressure: max. 0,6 MPa
crushing and cutting injuries. Recommended operating pressure: 0,2-0,4 MPa
A\ The product may only be used for bathing, hygienic (1 MPa =10 bar = 147 PSl)
and body cleaning purposes. Hot water temperature: max. 60°C
Thermal disinfection: 70°C/ 4 min

A\ The arm of the shower head is intended only to hold

the shower head. Do not load it down with other The product is exclusively designed for drinking water!

objects!

SYMBOL DESCRIPTION
INSTALLATION INSTRUCTIONS

Do not use silicone containing acetic acid!
/ Prior to installation, inspect the product for transport
DIMENSIONS (see page [)

damages. After it has been installed, no transport or
surface damage will be honoured.

FLOW DIAGRAM (see page )
(@D Overhead shower

/ The pipes and the fixture must be installed, flushed and
tested as per the applicable standards.

he olumb q licabl A @ body shower

/" The plumbing codes applicable in the respective coun-

tries must be observed. 0@@ SPARE PARTS (see page E)
XX = Colors

/ During installation of the product by qualified trained
00 = Chrome Plated

34 = Brushed Black Chrome
67 = Matt Black
99 = Polished Gold-Optic

INSTALLATION EXAMPLE
(see page [)

CLEANING (see page Q)

@\ OPERATION [see page [

personnel, make sure that the entire fastening surface

is even and smooth (no profruding seams or file offsef),
that the finish of the wall is suitable to apply the product
and has no weak points.

FAULT CAUSE REMEDY
/ Head shower extremely leaky / Head shower soiled/scaled / Clean/descale head shower
/" Shower drips continuously /" Shut-off unit damaged / Exchange shut-off unit

/ Water drips from showerhead a short  / Normal clearing of pipes
time after the valve is closed

/ Sprays not operating properly / Flow pressure oo low / Check water pressure (If a pump has
been installed check to see if the pump
is working.

/ Increase water pressure

/ Filters are dirty / Clean filters

ASSEMBLY (see page E) 3\:



S 04

Serwce SW 12 mm

[2F]

o) kﬁﬁ

SW 3 mm




05 S

S
(

o M6x60
min. min. 4

(M6x60 2 min)) - *mox. mox* -

[M6x80 2 max.) it

(M6x80)




min.)

/A

4x (M5x75

06

max.)

/8

4x (M5x90




07

if

Yooocooo o000
{ eecccce




S, 08




09 S,




1000

900

200

-l45-

1200

2200
2400







@ 12

IR BTSRRI

MAR AR K, BERX B8, B, B, AR,

ABTNNAERBRGIEMEIIFER, LUSN &It

AT AEA TR AR K.

AT R IR A H IS | R BIRIF R, I

RMEEmIEEE XM

ERFEXETE I @Y, RN A TUER:

/ REERBLEREIRRERATAM RIEET.

/ ARVHMERASHEEHER W& REEWW, URES
BAREET, AR E ST RGL - mREER™
ES:NEat)

/ EHEBRBVEETIWAERTER M TER.

/ RRFRFAMLULEETRAER.

/ ARITEREEHEFRNEE LANSE OIF
EEREENR, BREIBAZ .

/ FWETEETFIEENRERA

/ PERRESTEETR R ENERRE, AT ARVEE
FIBVERBEHRTEE.

/ TERRBYETE TP K G,

/ AAVPREET RS E TS e s L, B
DRSS it NONHTAR P qnAvFF O BB 0 FN42 MR R
ERIRE. BIRE SN L, BRNAH
TR

/ EEZ R IRRBINE AR, UREREE
BIMR ) (BT

/ ARFERZEAB, SRERE" M.

BEHA

BBE, JEATK, RAIR, RS, BK, BIBAZK, 15 HRY
BB SRR,

Lteab: AR EE/ OB BRI R T .
B N A NMSEREAFLF A m, Fa0Ae]
BERTRRERTE RS NIE L AR~ M.
EELRHGNRAXSEEREENAREENEKX
B9 .

REBRAHBHELBRNER SW=
BERGHNER.

NEHLE TR A IS B E RN E R QB ™~
RIEEEZA.

palil

o

BIR

Axor BAFRIE, - mERISHRE. IRBWEZ B
ERFREHIIREE, Axor FREZFHER (RIEFHMIFE
Jr]L, L Lonsgrone comauaaniecl E}%ij%ﬂ%ﬁ’\]*yﬁﬁjﬁj
BERAEHNERG. ARIENINREXEZEENE
BOH SR .

QuickClean

BT QuickClean, F L& EIIRE, EXEBIEL_EAI/KIE,
HEfE B RIERREE].



http://www.hansgrohe-int.com/guarantee

CLEANING RECOMMENDATION FOR
AXOR PRODUCTS

Today, modern sanitary and kitchen tapware, showers,
accessories, washstands, sinks, tubs and radiators consist
of very different materials to comply with the needs of the
market with regard to design and functionality.

To avoid damage and reclamations, it is necessary to
consider cerfain criteria when cleaning.

WITH REGARD TO CARING FOR THE
AXOR PRODUCTS, THE FOLLOWING
MUST IN PRINCIPLE BE HEEDED:

/ Only use cleaning material which is explicitly provided
for this type of application.

/ Never use cleaning materials, which contain hydro-
chloric acid, formic acid, concentrated caustic soda,
chlorine pale lye or acetic acid, as they cause consider-
able damage.

/ Phosphorus acidic cleaners are only conditionally ap-
plicable.

/ Mixing cleaning agents is not permitted, generally.

/ Never use cleaning materials or appliances with an
abrasive effect, such as unsuitable cleaning powders,
sponge pads or micro fibre cloths.

/ The safety instructions of the cleaning agent manufactur-
ers must be strictly followed.

/ Cleaning has to be carried out with a specified cleaner
dosage, contact time, object-related and adapted to
the needs.

/ The building up of calcifications has to be removed by
cleaning regulary.

/" When using spray cleaners, spray the cleaning solution
onto a soft cloth or sponge, never directly onto the Axor
products, as the atomised spray could enter openings
and gaps in the Axor products and cause damage.

13 @

/ After cleaning rinse thoroughly with clean water to
remove any cleaner residue.

/ The use of steam cleaners is not permitted. The high
temperatures can damage the products.

IMPORTANT

Residues of toiletries such as liquid soaps, shampoos and
shower gels, hair dyes, perfumes, aftershave and nail
varnish can also cause damage.

Here too: Carefully rinse with water after use to remove
residues.

Likewise, do not store any cleaning agents or chemicals
under the products, for example in a vanity unit, as the
vapours may damage the products.

The damage of already damaged surfaces will deteriorate
under the effect of the cleansers.

COMPONENTS WITH
DAMAGED SURFACES MUST BE
EXCHANGED, OTHERWISE THERE

COULD BE AN INJURY DANGER.
Damage caused by improper treatment will not be covered
by our guarantee.

WARRANTY

Axor guarantees to the consumer that this product is free
of production faults. If nevertheless any defect is defected
within 5 years from date of purchase, Axor will remedy this
defect free of charge. You will find the conditions and de-

tails of this guarantee ot DI oIonecomZauoran=d

Please contact your contracting party to claim your rights
under this guarantee. This guarantee does not affect the
customer's rights under the respective national legislation.

QUICKCLEAN

The QuickClean cleaning function only needs a small
manual rub over to remove the lime scale from the spray
channels.

&



http://www.hansgrohe-int.com/guarantee

14

e— W |




r—7238—4>

¢ 488 —— P

<—370ﬂ

//////////////////////////////////////////////////////////j 4

=

11 -plle—

498 ——— P

vt w85 Y ’
A

0,60 6,0
0,55 GY2) 55
0,50 50
0,45 / (P 45
0,40 [/ 4,0
L 035 [l / 3,5
$ 030 / 3,0
0,25 2.5
0,20 ﬂ 2,0
0,15 = 1,5
0,104 1,0
0,05 - 0.5
0,00 - 0,0
Q=I/min0 3 6 9 12 15 18 21 24 27 30
Q=lfsecO 01 02 03 04 05

E::23844’

bar

50— &

PowderRain

o=

Intense PowderRain

®

N

”
”

—
”
7

2050
2400

Yy

S LSS LSS LSS LSS LSS LSS LSS S LS LSS LSS LSS S S S LSS LSS S SIS S 7




XOR

87132000
(M5xQ0)
87131000
(M5x75)

93967000

e

87130000 ?niiAB)OO
(M6x80] X
87129000 2% 0p uv!%omooo 87136000
0
(M6x60) (981230)00\000 o o
10x1,5 00 of ; \
87134000/ “ N
93071000
95659000
87135000 , 94879XXX
£
87133000 ( $2805000
\\a &
| U
|
|
96179000
97530000

AXOR / Hansgrohe SE
AuestraPe 5-9

77761 Schiltach
Deutschland

info@axor-design.com

axor-design.com

0 93841000
(M4x12)

07/2024
9.09727.51



	中文
	English

